10 | 9 | 8 | 7 | 6 | 5 | 4 | 3 2 1
F FEMALE M12 RIGHT ANGLE TO MALE M12 STRAITGHT CORDSET
(see table on sheet 2)
31 L+TOLERANCE 50
| 5015 & ‘ 3
I s
| E%ﬁiéﬁ%%% -H - MI2xT 9146
| o
€ 27.7 \ — i 9
FEMALE 3 WO q MALE
| 38.3
NOTES :
D
TEMPERATURE RANGE SEE TABLE ON SHEET 2 SRR
CONTACT CURRENT RATING  3-5 POLES 4A — —
] 8 POLES ZA im - _5m +60 mm
VOLTAGE RATING 3-4 POLES 250V am - _10m [+80 mm
> 10m +140 mm
Mating face view: 5 POLES o0V > 20om 160 mm
; ‘ 8  POLES 30V
c Shield connecfed to the housing Bil of Materials > 30m 1%
PROTECTION CLASS 1P 67 0] 1 | LageL - -
M12S 3 POLE | M12S 4 POLE M12S 5 POLE M12S 8 POLE
2 9 1 INSERT XP MALE M12 SHELD PUR BLACK
8 X | PN MALE BRASS GOLD OVER NICKEL
3 1 3 1 7 1| KNU/HEX NUT M12 MALE BRASS CuNi3B
| § 1 | O-RNG FPM RED
¢ 4 5 1 INSERT XP FEMALE M12 SHEELD |PUR BLACK
MALE 4 X | CONTACT FEMALE BRASS GOLD OVER NICKEL
3 1| KNUZHEX NUT M12 FEMALE BRASS CuNi3B
B 1 3 2 - OVERMOULD TPU BLACK
1 - CABLE SEE TABLE (SHEET 2)|-
Y ITEM|QTY. | DESCRIPTION MATERIAL FINISH
FEMALE QUALTY| GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS © ] THIRD ANGLE
PIN = WIRE |PIN # WIRE PIN # WIRE w == =| |symBoLs| (UNLESS SPECIFIED) MM ONLY T METRIC PROJECTION
—] PIN # WIRE 0N Z=ZZ| mm INCH | DRAWN BY DATE TITLE
1 BROWN |1 BROWN 1 WHITE LSERR 2 v:[j TPLACESE — [+ — STRASZK IEW] 2014/12/08 CSE M12 M12 XP AC
S e W moml: som ot A vt e e FE RA TPU MA'STR X
4 BLACK |4 BLACK |3 BLUE |4 YELLOW EEE=oh \/=0 [2PLACES[E=== Tx-—=|MARSZALEK 2014/12/08
5 - 5 - 4 BLACK | 5 GREY a8 =202y TPLACE £— [+-— APPROVED BY DATE
A s GREY |&  PINK ITEEE 0 PLACE [E——— [T-—— MIWASIECZKO 2014/12/11 MOoiéXx
7 BLUE Z ) == + o MATERIAL NO DOCUMENT NO SHEET NO
P e Nt e are SEE TABLE SD-120069-029 1 oF 2
XooxTa DRAFT WHERE APPLICABLE - -
T R owoo= MUST REMAIN SZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A £ WITHIN' DIMENSIONS /\ 3/ INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
b_frame_A3_P_ME_T

Rev E1 2012/01/25 9 8 7 6 3 | 4 | 3 | 2 | !



) | 9 8 7 | 6 | 5 | 4 3 2 1

PART LIST NUMERICAL CODE
MOLEX PN ENGINEERING No. | CABLE LENGTH “L* IN M
1200698684 | 883S3BSTHOT0 ™ 8 X S 1R S XI' M X X X
1200698685 | 883S31BS1M020 ZM
1200698686 | 883S31BSIMO30 3M \ I | L \
1200698687 | 883S31BSIMOS0 5M | | | | |
1200698688 883S31BS1M100 10M 88 = Mi2x2 Poles: Header: Cable: M= meter | Length:
1200698689 | 884S31BSIMO10 ™ double ended]l _ 3 potes| 531 - plug shield BS1 = D34nme, TRU Binck Example
1200698690 | 884S31BS1IM020 ZM 4 = 4 poles|| female right angel BS2 = 0.25mm, TPU black 050 -5m
1200698691 884S31BS1M030 3M o Eg::: fo male straight 100=10m
1200698692 | 884S31BSIMOS0 5M
1200698693 | 884S31BSIM100 10M
1200698694 |  885S31BSIMO10 ™
1200698695 | 885S31BS1M020 2M
1200698696 | 885S31BS1M0O30 3M
1200698697 | 885S31BSIMOS0 5M
1200698698 | 885S31BSIM100 10M
1200698699 | 888S31BS2M010 ™
1200698700 | 888S31BSZM020 ZM
1200698701 888S531BS2M030 3M
1200698702 | 888S31BS2MOS0 5M
1200698703 | 888S31BS2M100 10M
CABLE SPECIFICATION
CABLE WIRE CABLE UL CSA static flexing drag chain shield |other
TYPE GAUGE JACKET tested
BS1 3P.4P,5P |0.34mm? |TPU black |STYLE 21215 |yes |-40°C to +90°C 5xD |-25°C to +80°C 7.5xD |5 mio cycles |braid |WELD SLAG RESISTANCE
BS2 8P 0.25mm?2 TPU black STYLE 21215 |yes -40°C to +90°C 5xD -25°C to +80°C 7.5xD 5 mio cycles braid WELD SLAG RESISTANCE
For Raw Cable Specification see SD-120209-003
E§ § E QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
W =2 |sympols| (UNLESS SPECIFIED) MM ONLY - METRIC | © SIprOECTION
w0 A g g g mm ‘N[H DRAWN BY DATE TITLE
SESRSz\W-0 [TPAGSIE — [T WSTRASZKIEWI 2014/12/08 CSE M12 M12 XP_AC
DT Ex 2t 3 PLACES|E — [t-—  |Eckep oY DATE FE RA TPU MA STR XM
EL5=20|8\/=0 [2ZPLACES[E—— [+  |JMARSZALEK 2014/12/08
~ g 5 =t 1PLACE £ - APPROVED BY DATE
TopEs 0 PLACE JE-——  [=-—  MIWASIECZKO 2014/12/11 mQIQx
Z ) == ANGUL AR + 1 ° MATERIAL NO. DOCUMENT NO. SHEET NO.
cEEEY S
Tozra DRAFT WHERE APPLICABLE| SEE TABLE SD-120069-029 2 OF 2
Qoo MUST REMAIN SZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A iy WITHIN DIMENSIONS A 3 INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
b_frame_A3_P_ME_T

Rev E1 2012/01/25 9 8 7 6 3 | 4 | 3 | 2 | !



